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Since the range is increased by 1, this means John is either 155 or 191 but since 
the median is decreased, this means that John’s height is lower than the median 
thus he is 155 cm. 
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 (b) Draw horizontal line y = 3 
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10 (ai) Total volume of one Bloobox 
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John should request for 1 Type B Bloobin as it is enough to collect all the 
recyclables from the households in his block.  
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Median = $320 
 
Online bookshop A because it has a greater median than online bookshop B. 
 
Lower quartile = 120 
Upper quartile = 520 
Inter-quartile range = 520 − 120 = $400 
 
For online bookshop B, 
lower quartile = 120 
upper quartile = 440 
Inter-quartile range = 440 − 120 = $320 
Online bookshop B has a more consistent amount of sales because it has a lower 
interquartile range. 
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